Population Ecology Practice Quiz

1. Which of the following is likely to cause a high intrinsic rate of population growth (r)? 
A. A small population of closely related individuals
B. Very long term an intensive parenting of a few select offspring
C. A large number of reproductive episodes per lifetime for each female
D. A large carrying capacity in the environment in which the population lives

2. Which of the following is most likely to increase the carrying capacity of a population?
A. Increasing the frequency of reproductive episodes per female
B. The presence of a new food source in the habitat
C. An increase in the clutch size (number of offspring per reproductive episode)
D. Decreased density of a population due to natural disaster
3. A population with a size of 600 has a theoretical carrying capacity of 1000.  If the maximum intrinsic growth rate is 8% per year, how large will the population be the following year?

4. A population of mice and a population of lions have a similar growth rate.  Which of the following can be concluded about the two populations?
A. The population of lions is closer to its carrying capacity compared to the mice
B. The population of mice has a higher rate of deaths than does the population of lions
C. The population of mice has a higher carrying capacity than does the population of lions
D. The population of lions has fewer resources available than the population of mice
5. Describe at least 3 features of a population with the survivorship curve shown below

6. When is a population likely to grow at the fastest rate?
A. When there is high population density and individuals are more likely to find mates
B. When there is little competition for resources such as food and water
C. When their habitat has been significantly altered such as by logging a forest
D. When the population sizes nears the carrying capacity
7. Describe the concept of carrying capacity and how it can affect the rate of population growth
8. Explain how the graph below relates to reproductive strategies
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9. A scientist tags 25 wild deer in a forest.  Two weeks later they set up 5 different traps which each catch 10 deer. The results are shown below:
	Trap #
	1
	2
	3
	4
	5

	# of Marked Deer
	3
	4
	2
	5
	2


Estimate the true size of the deer population
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10. Which of the following can be concluded about the population charted above?
A. The population is nearing its carrying capacity which is decreasing the reproductive rate
B. The population likely had a recent drop in the death rate which has allowed individuals to live longer
C. The birth rate has likely plummeted in recent years as the 0-5 age group is similar in size to the 5-10 age group
D. The population will remain relatively stable since the rate of increase for each age group is relatively similar
